
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

5.021 × ________ = 5021 3.047 × ________ = 3047

4.09 × ________ = 4090 10.259 × ________ = 1025.9

8.745 × ________ = 87.45 10.377 × ________ = 10377

4.043 × ________ = 404.3 3.372 × ________ = 337.2

6.453 × ________ = 6453 6.85 × ________ = 68.5

9.095 × ________ = 90.95 4.452 × ________ = 44.52

4.566 × ________ = 4566 5.359 × ________ = 535.9

7.943 × ________ = 794.3 2.085 × ________ = 2085

3.079 × ________ = 307.9 7.377 × ________ = 73.77

10.744 × ________ = 1074.4 3.502 × ________ = 350.2
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